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Questions

Answers Choice

Question Image

A.
Question Image ‘ g
D.
Question Image | D.
A
Question Image | g
D.
A.
Question Image ‘ g
D.
sin(©@-m) =
A
oy — B
Tan (294°) = c
D.
A reference angle © is always:
A
The angles 90°+0, 180°t0, 270°+0, 360°+0O, are the: g
D
Question Image |
tan (o+B) =
tan(a-B)=
A
cos (a-B) = ?:
D
sin (a-B) =
sin (a+R) =
The distance between the points P(x1, y1) and Q(x2, y2) is:
A.
. — . 2 2 _ B
If sin © + cosec © = 2, then sin“ © + cosec” © = C.
D.
A
(1 - c0s20) (1 + cot20) = 3'.
D.
A
(1 - sin20) (1 + tan20) = g
D.

cos?O - sin%o =

oow»

none of these
none of these

quad. |
quad. Il
quad. lll
quad. vV

quad |

quad. Il
quad. lil
quad. IV

tan24°

. -tan24°

cot24°
-cot24°

. composite angles
. half angles

. quadrantal angles
. allied angles

.cosacosf+sinasinfR
.cosacosR-sinasinf
. cos acos B +sin acos B
.sinacos B -sinasin R

0o R

. tan<sup>2</sup>0

0
1
-1

LOo—©

sin 20
cos 20
tan 20
sec 20



